A =]
T B S oL
2 % B B 315
& E S 6 HE ERERB &f 6 £ 1 8 17 H
RTFEIWME  RIIREHREICELS
= i % MHETIILE/NERIED ORHETARERTARERERT PIE TN INER B hERSR
* R ERE EEP®S%: BT —=
BRE X RRE —=
BARE. ko vy a— —=
FEERERE —=
B 1 & Fr ME™HMLEEFER2 9oFH (Fh SR —=
BT LI —=t
JHNES —=
% i & #H#
B R K % (B) - B - B - {&
S+ 6 & 4 A 1B Mo
B 1T # M
4% 7% 3 H 31 H T

1/16




BHME = =1
% L7 fn TE e K - <F % 8 # BEfr | B (F) 2 (M) 1% =
MEHILIEE/MNERED) OB ARIERTEBRERER
I EFHRMmE
1IN 1 — | =®
2  ER 1 — | =®
3 HME: 1 — | =®
i 1 1+2+3 FHEXFE
I HERSHEZS 10%
m EEE I4+1

2/16




BR &

ok

Jjn

% # 1 AR NI g # B | B i (FD % (M) fis
1 E5{iK AR
1IN
(1) BE/DNEE 1 —]
(2) RFhZEA 1 —]
@) FALF/ER 1 — | R
4) FERR 1 —]
(5) x/NFEIR 1 —]

(1)~ (5)

3/16




BR &

ok

Jjn

% #R m i B K- T & 8 £ By | B fi (M) % (M) 1
2 PR
(1) IBAF s IR -~
(2) FaF st 1| s
(3) WEHZEH | =
(4) Bz 1 —1 =®
6) SER=N/NPIPERK 1 —1 =®

it 2

(1)~ (5)

4/16




BR &

ok

Jjn

% a3 m 12 e K- <F & 8 # B | B2 fii () # (M) &

1 VR R ENE:

(1) JEE/INER

EXHE T —] =
ZiEH T —] =
P ORF I T —] =
HXEE T —] =
Bh X BESE T —] =
HAE T —] =
3EH WUX ER fiF T —] =
ECiR R AR T —] =
FELTE T —] =
FROTFEINEIRER 2 —| @
HEE T —] =

5/16




BR &

ok

Jjn

% a3 m 12 e K- <F & 8 # B | B2 fii () # (M) &
(2) KFINER
EXHE T —] =
ZiEH T —] =
P ORF I T —] =
HXEE T —] =
BhXBESE T —] =
HAE T —] =
3EH WUX ER fiF T —] =
ECiR mAR T —] =
FELTE T —] =
FROIFEINEIREE 2 —| M@
HEE T —] =

6/16




BR &

ok

Jjn

% a3 m 12 e K- <F & 8 # B | B2 fii () # (M) &
Q) TAF/IEK
EXHE T —] =
ZiEH T —] =
P ORF I T —] =
HXEE T —] =
BhXBESE T —] =
HAE T —] =
3EH WUX ER fiF T —] =
ECiR mAR T —] =
FELTE T —] =
FROIFEINEIREE 2 —| M@
HEE T —] =

1/16




BR &

ok

Jjn

% a3 m 12 e K- <F & 8 # B | B2 fii () # (M) &
(4) FINER
EXHE T —] =
ZiEH T —] =
P ORF I T —] =
HXEE T —] =
BhXBESE T —] =
HAE T —] =
3EH WUX ER fiF T —] =
ECiR mAR T —] =
FELTE T —] =
FROIFEINEIREE 2 —| M@
HEE T —] =

8/16




BR &

ok

Jjn

% a3 m 12 e K- <F & 8 # B | B2 fii () # (M) &
(5) #/VF
EXHE 1 —f =
ZiEH T —] =
P ORF I T —] =
HXEE T —] =
BhXBESE T —] =
HAE T —] =
3EH WUX ER fiF T —] =
ECiR mAR T —] =
i gL 228 T —] =
FELTE T —] =
FROTFEINEIRER 2 —| @
HEE T —] =

9/16




BR &

ok

Jjn

% #R m i B K- T & 8 £ By | B fi (M) % (M) 1
2 PR
(1) [BXFEHZER
EXHE 1 — K
Z{EH 1 —1 =®
N RN 2 1 — K
HAKAE 1 — K
BhKEESE 1 —1 =®
JHXZR 1 — K
JEHE X ER i 1 —1 =®
FLiR SR 1T —] =&
BEMFE 1 —1 =®
R 1T —] =&

10/16




BBME ¥ 10 5
£ i m 1E R 7 i 3 =] 2 By | B i (A % (M) i %

(2) TAFPFER

EXHE 1 — K
2= 1T — =%
N RN B 1 — K
HAKAE 1 — K
Bk % 1T — =%
JHKER 1 — K
FEMEEE 1T — =%
BL iR AR 1 — R
ERE 1T — =%

11/16




RMEE %5 11 5
% a3 m 12 e K- <F & 8 # B | B2 fii () # (M) & %
(3) I HZEHK
EAHE 1 —f =
ZiEH T —] =
P ORF I T —] =
HXEE T —] =
BhXBESE T —] =
HAE T —] =
3EH WUX ER fiF T —] =
ECiR mAR T —] =
FELTE T —] =
FROIFEINEIREE 2 —| M@
HEE T —] =

12/16




BME ¥ 12 5
£ i m 1E R 7 i 3 =] 2 By | B i (A % (M) i %

(4) PR

EAfE 1 —f =
2= 1T — =%
N RN B 1 — K
HAKAE 1 — K
Bk % 1T — =%
JHKER 1 — K
FEMEEE 1T — =%
BL iR AR 1 — R
EEEE 2R E BEgILI28 1 — K
FRATEHEBIGEREE 2 —| @
ERE 1T — =%

13/16




BBME ¥ 13 5
£ i m 1E R 7 i 3 =] 2 By | B i (A % (M) i %

(6) ER=M/IehER

EAfE 1 —f =
2= 1T — =%
N RN B 1 — K
HAKAE 1 — K
Bk % 1T — =%
JHKER 1 — K
FEMEEE 1T — =%
BL iR AR 1 — R
BEE 1T — =%
FRATEHEBIGEREE 2 —| @
R & 1T — =%

14/16




BR &

ok

14

Jjn

%

b

Rk - &

‘o

B

a

i (F)

&

3 HAREH

108458 K 25

INERR

it 3

15/16




AR

B ok B

ERAE

H H Bl
Il N W P PR PTG S 3 B G TP o PN IR ETT o] I G v e i - o EIP e i o
JSTHL O O 0 0 0 111 | 51 9 2 O 16 O 14 9 0 O 4 0 O 46 o | 16| O
R O O 0 0 3 37 21 3 0 O 6 O 5 0 0 O 0 6 O 24 O 35 O
TIEF| O O 0 0 5 70 | 28 3 0 O 8 O 1 6 0 O 2 0 O 25 O 42 O
W O O 0 0 11 | 107 | 22 16 0 O 17 O 11 11 0 o | 17 0 O 36 O 66 O
A O O 0 O 4 107 | 41 6 0 O 14 O 19 3 1 O 3 19 O 38 O 28 O
NERREE 5 0 1 23| 432|163 37 2 61 5 50 29 1 5 26| 25 169 5| 207 5
[HXY| O O 0 0 4 54 13 6 0 O 8 O 4 27 8 O 5 0 O 21 O 50 O
TEF | © O 0 0 4 60 | 20 5 0 O 8 O 13 2 8 0 0 0 O 25 O 39 O
AR | O O 0 O 6 170 | 30 14 0 O 16 O 31 8 0 O | 17 0 O 38 O 47 O
B O O 0 0 5 87 | 20 14 0 O 11 O 2 21 0 0 0 0 O 32 O 87 O
et e O 0 0 1 121 | 32 39 0 O 16 O 13 0 0 O 0 44 O 45 O 48 O
HEE 5 0 1 23] 492|115 78 0 59 5 63 58 16 3 22 44 161 5| 271 5

16/16




